
T.5: Verify Congruence 

 

Transform ∆𝑨𝑩𝑪 to show ∆𝑨𝑩𝑪 ≅ ∆𝑫𝑬𝑭. 

  
 
 

 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

        ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹 
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𝑩 

𝑪 

𝑬 
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Jaxon’s “Reflection & Rotation” Method 

 
I reflect the triangle 

over the x-axis. 
 
 
 
 
 

 
 
 

I rotate the triangle 
90° counterclockwise 

about the origin. 
 

 
 

 
 

 
 

 
   I was able to 

transform ∆𝐴𝐵𝐶  

    to be ∆𝐷𝐸𝐹. 
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T.5: Verify Congruence 

Transform ∆𝑨𝑩𝑪 to show ∆𝑨𝑩𝑪 ≅ ∆𝑫𝑬𝑭. 

  
 
 

 
 
 
 
 
  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

                         ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹 
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Maxine’s “Rotation & Reflection” Method 

 
I rotate the  

triangle 90° clockwise 
about the origin. 

 
 

 
 
 

 
 

I reflect the triangle 
over the x-axis. 

 
 

 
 
 
 
 
 

 
     I was able to 

      transform ∆𝐴𝐵𝐶  

         to be ∆𝐷𝐸𝐹. 
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T.5: Verify Congruence 

Transform ∆𝑨𝑩𝑪 to show ∆𝑨𝑩𝑪 ≅ ∆𝑫𝑬𝑭. 

  
 
 

 
 
 
 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

     ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹   ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹 

Jaxon’s “Reflection & Rotation” Method Maxine’s “Rotation & Reflection” Method 

 
I reflect the triangle 

over the x-axis. 
 
 
 
 
 

 
 
 

I rotate the triangle 
90° counterclockwise 

about the origin. 
 

 
 

 
 

 
 

 
   I was able to 

transform ∆𝐴𝐵𝐶  

    to be ∆𝐷𝐸𝐹. 
 

 
I rotate the  

triangle 90° clockwise 
about the origin. 

 
 

 
 
 

 
 

I reflect the triangle 
over the x-axis. 

 
 

 
 
 
 
 
 

 
     I was able to 

      transform ∆𝐴𝐵𝐶  

         to be ∆𝐷𝐸𝐹. 
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T.5: Verify Congruence 

 
1) What are the similarities and differences between Jaxon and Maxine’s methods? 
 

Similarities Differences 

 
 
 
 
 
 

 

 
2) Using translations, reflections, and/or rotations, describe the steps that show that ∆𝑋𝑌𝑍 ≅  ∆𝑅𝑆𝑇. 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
3) How do you know if two figures are congruent? 
 
 
 
 
 
 
 
 
 
 

4) To show the triangles are congruent, Maxine says you have to start with ∆𝐷𝐸𝐹. 

Jaxon believes she would be incorrect, and you have to start with ∆𝐴𝐵𝐶. Their 
friend, Shannon, says they are both right and you can start with either triangle. 
Explain who you think is correct and why. 

 
 
 
 
 
 
 

𝒁 ሺ𝟏, 𝟏ሻ 

𝒀 ሺ𝟏, 𝟓ሻ 

𝑿 ሺ𝟒, 𝟓ሻ 

𝑻 ሺ−𝟖, −𝟏ሻ 

𝑺 ሺ−𝟖, −𝟓ሻ 
𝑹 ሺ−𝟓, −𝟓ሻ 

𝑩 

𝑪 

𝑬 

𝑭 

𝑫 

𝑨 



T.5: Verify Congruence 

 

Transform ∆𝑨𝑩𝑪 to show ∆𝑨𝑩𝑪 ≅ ∆𝑫𝑬𝑭. 

  
 
 

 
 
 
 
 

  
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

     ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹   ∆𝐴𝐵𝐶 ≅ ∆𝐷𝐸𝐹 

Jaxon’s “Reflection & Rotation” Method Morgan’s “Rotation & Reflection” Method 

 
I reflect the triangle 

over the x-axis. 
 
 
 
 
 

 
 
 

I rotate the triangle 
90° counterclockwise 

about the origin. 
 

 
 

 
 

 
 

 
   I was able to 

transform ∆𝐴𝐵𝐶  

    to be ∆𝐷𝐸𝐹. 
 

 
I rotate the  

triangle 90° clockwise 
about the origin. 

 
 

 
 
 

 
 

I reflect the triangle 
over the x-axis. 

 
 

 
 
 
 
 
 

 
     I was able to 

      transform ∆𝐴𝐵𝐶  

         to be ∆𝐷𝐸𝐹. 
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We both used a combination of 
rotations and reflections to 

show the triangles are 
congruent. Since these 

transformations preserve 
congruence, the order did not 

matter. 


